#### Chesterfield Township School NOVEMBER 2021 HEALTH OFFICE REPORT

Date: December 7, 2021

Student Visits:	Category	Number
	Accident/ Incident Reports	2
	Contact Tracing	73
	Accident/ Incident Reports   2	0
		10
	DYFS Issue	0
	First Aid	103
	Medical	148
	Medication	64
	Other	12
	Parent Communication	80
	Health Screenings	72
	Health screenings for I&RS or CST	7
	PPE-Mask	33
	Snack	9
	Staff Visits/ Supplies	42
	Student Specific	6
Health Office Visits:	Total: 661	Per Day: 39
Communicable Diseases:	Disease	Number of cases
		0
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0
	COVID 19 positive cases	10
Accident Reports		0
Students on daily medication / treatme	ent	4
Telephone Calls to parents for illness	or injury at school	47
Attendance Meeting as Attendance Of		0
Special Services – I&RS, IEP, 504 me		2
Telephone calls to Poison Control	•	0
Students Out of District		6
DYFS		0
Home Visits		0
Students on Homebound Instruction		0
Contact Tracing		73
COVID Related Data Collection and/o	r Guidance	73

#### Comments:

- Attended Staff Meeting (2)
- Collaborated with BCHD on individual cases r/t COVID
- Notified preschool parents of required flu shots
- Ongoing data entry of 6th grade immunization and health records
- Prepared files for students transferring out of district
- Data entry of new student health information and review compliance with vaccination schedule
- 3 new student files prepared

- Collection of proof of vaccination from all staff Providing a weekly COVID update to the DOH Started yearly health screenings Competed Safe School Trainings

School Nurse: Charmaine Ramos, MSEd, BSN, CSN, RN	Charmaine Ramos
Courtney Gauze, BSN, RN	Courtney Gauze

#### **Emergency Drill Log for 2021-2022 School Year**

Month	Date	Type of Drill
September	September 16, 2021	Fire Drill
•	September 24, 2021	Lockdown Drill
	September 28 & 29, 2021	Bus Evacuation Drill
October	October 8, 2021	Fire Drill
	October 15, 2021	Evacuation Drill
November	November 9, 2021	Fire Drill
	November 10, 2021	Evacuation Drill
December	December 1, 2021	Fire Drill
January		
February		
March		
April		
May		
June		

#### Facilities Report December 2021

- 1. **HVAC –** Three heat pumps in the building were repaired.
- Firehouse- The water lines in the firehouse were winterized to prevent the pipes from freezing.
- 3. **QSAC Building inspection** The county B.A. did a thorough walkthrough of the building. He found a few minor issues, such as some stained ceil tile, one storage closet that needs to be straightened up, and some teacher's personal furniture in the classrooms that should not be in the room. Other than that, he found no significant health and safety issues with the building.

Andrew Polo Business Administrator December 15, 2021

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
16207	Closed Work Orders	11/1/2021 6:24:32	Robert Carter		30 Saddle Way
	Monthly - Fire Extiguishers - Refer to PM schedule details.	11/12/2021 Medium	Pingitor, Larry		Fire Exiguishers
	fire extinguishers checked out ok				The Exiguishes
16209	Closed Work Orders	11/1/2021 6:24:34	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	11/12/2021 Medium	Pingitor, Larry		Playground#2
	playground 2 no issues found trash and litter picked up every day				r raygrounanz
16210	Closed Work Orders	11/1/2021 6:24:34	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	11/12/2021	Pingitor, Larry		
	cafeteria filters changed	Medium		Heating/Ventilatio n /Air Conditioning	RTU#2
16211	Closed Work Orders	11/1/2021 6:24:35	Robert Carter		30 Saddle Way
	- Refer to PM schedule details	11/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	RTU#1
	gym filters changed			n /Air Conditioning	RIO#I
16212	Closed Work Orders	11/1/2021 6:24:36	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	11/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	ERV#3
	erv 3 filters changed			n /Air Conditioning	LITV#3
16213	Closed Work Orders	11/1/2021 6:24:36	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	11/12/2021	Pingitor, Larry		
	erv 2 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	ERV#2
16214	Closed Work Orders	11/1/2021 6:24:36	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	11/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	rtu#1
	erv 1 filters changed	sururi		n /Air Conditioning	Itu# I
16215	Closed Work Orders	11/1/2021 6:24:36	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	11/12/2021	Pingitor, Larry	Hooting Mantiletic	<b>ED.</b> (1)
	erv 4 filters changed	Medium		Heating/Ventilatio n /Air Conditioning	ERV#4

12/10/2021 11:35:08 AM Page 1 of 6

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
16218	Closed Work Orders  Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details.  fuel level for generator 605 gallons	11/1/2021 6:24:38 11/12/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way
16221	Closed Work Orders  Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.  courtyard no issues at this time	11/1/2021 6:24:41 11/12/2021 Medium	Robert Carter Pingitor, Larry	Landscaping	30 Saddle Way Courtyard
16222	Closed Work Orders  Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.  IPM no findings	11/1/2021 6:24:42 11/8/2021 Medium	Robert Carter Pingitor, Larry	Pest Control	30 Saddle Way
16226	Closed Work Orders  Monthly - PM Schedule created on 5/22/2018 - Refer to PM schedule details.  duplicate order	11/1/2021 6:24:46 11/3/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way
16227	Closed Work Orders  Hello! Can   get my hand sanitizer refilled outside of my door?  Thank you!  refilled hand sanitizer	11/1/2021 11/1/2021 Medium	Gaby Lestino Pingitor, Larry	Art Room  General  Maintenance	30 Saddle Way A204
16229	Closed Work Orders  We are going to have an assembly on November 12 for Veteran's Day. There will be the chorus on the stage at one point and about 30 people in seats. Please see Danielle C. for additional details. Time Available: 11/12/21 chairs and risers were set up	11/2/2021 11/15/2021 Medium	Danielle Christiansen Pingitor, Larry	Cafeteria General Maintenance	30 Saddle Way cafeteria
16232	Complete  Add Mote App to Tykir and Darwin's chromebooks.	11/3/2021 11/3/2021 Medium	Erin Casey Harris, Rene		
16233	Closed Work Orders  We need 7 tables in the atrium from November 11 through November 23. 7 tables set up	11/3/2021 11/15/2021 Medium	Angela Manning Pingitor, Larry	Computer Lab  General  Maintenance	30 saddleway 209

12/10/2021 11:35:08 AM Page 2 of 6

Work OrderID		Request Date	Requester	Area Type	Location	
	Description	Completion Date Assigned		Building	Area Number	
	Action Taken	Priority		Craft	Equipment	
16234	Closed Work Orders	11/3/2021	Jennifer O"Brien	Cafeteria	30 Saddle Way	
	Can you please set up the metal risers on the	11/15/2021	Pingitor, Larry		Stage	
	stage? I will be having chorus rehearsals in the afternoons next week and will need them there until the Veterans' Day assembly is over (on 11/12). I will also need the sound cart out and the electronic room unlocked. Thank you! risers set up	Medium		General Maintenance		
40005	·		L	<b>O</b> L	00.0 - 1.11 - 144	
16235	Closed Work Orders	11/3/2021 11/8/2021	Lauren Rahey	Classroom	30 Saddle Way	
	Cubby hook in first row lost a screw and is falling off. Cabinet against wall has handle falling off/loose (tall door next to filing drawers.) Thanks! Time Available: B227	Medium	Pingitor, Larry	General Maintenance	B227	
	replaced screw and tightened handle					
16236	Closed Work Orders	11/4/2021 1:05:36	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012- Refer to PM schedule details.	11/11/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#11	
	water room no issues found heat was on	Wedian		n /Air Conditioning	OH#11	
16237	Closed Work Orders	11/4/2021 1:05:36	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 -	11/11/2021	Pingitor, Larry			
	Refer to PM schedule details. Fire pump room no issues found heat was on	Medium		Heating/Ventilatio n /Air Conditioning	UH#12	
16238	Closed Work Orders	11/8/2021 1:21:22	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	11/11/2021 Medium	Pingitor, Larry		DI AVGDOLIND#	
	playground 1 no issues found trash was picked up and litter every day	Wedian			PLAYGROUND#	
16239	Closed Work Orders	11/8/2021 1:21:23	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	11/11/2021 Medium	Pingitor, Larry		Playground#2	
	playground 2 trash and litter was picked up every day				i iaygi ouilu#2	
16240	Closed Work Orders	11/8/2021 1:21:23	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	11/8/2021 Medium	Pingitor, Larry	Equipment	Steamer #1	
	steamer working ok			Maintenance	Oleaniei #1	
16242	Closed Work Orders	11/8/2021 1:21:25	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	11/11/2021 Medium	Pingitor, Larry	Landscaping	Courtycod	
	courtyard grass was cut and trimmed	WEUTUITI		Landscaping	Courtyard	

12/10/2021 11:35:08 AM Page 3 of 6

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location  Area Number  Equipment
16244	Closed Work Orders	•	Leia Wisniewski	Classroom	
10244	Need one of my desks lowered. Time Available: 111 lowered desk	11/8/2021 11/15/2021 Medium	Pingitor, Larry	General Maintenance	30 Saddle Way B111
16246	Closed Work Orders	11/9/2021	Nicole Dimaiuta		30 Saddle Way
	Can I have a small garbage can in my room please? I have one behind my desk, but don't have one for my students to throw things out. Thank you! Time Available: A256 put trash can in room	11/10/2021 Medium	Pingitor, Larry	General Mainten <i>a</i> nce	A256
16247	Closed Work Orders	11/10/2021	Larry Pingitor		30 Saddle Way
	paper towel dispenser broken	11/10/2021	Pingitor, Larry		110
	replaced dispenser	Medium			
16248	Closed Work Orders	11/10/2021	Nicole Dimaiuta		30 Saddle Way
	I received my cork borders that will be hung outside my room on the wall connected to the kids bathroom. Can someone hang them for me please? There's two rows of them. Time Available: A256	11/23/2021 Medium	Pingitor, Larry	General Maintenance	A256
	strips were hung up				
16249	Closed Work Orders  Weekly - PM Schedule created on 1/9/2012-	11/11/2021 11/12/2021	Robert Carter Pingitor, Larry		30 Saddle Way
	Refer to PM schedule details. water room no issues heat was on	Medium	· mgnon, zary	Heating/Ventilatio n /Air Conditioning	UH#11
16250	Closed Work Orders	11/11/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012- Refer to PM schedule details.	11/12/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#12
	fire pump room no issues found heat was on			n /Air Conditioning	
16255	Closed Work Orders	11/15/2021	robert cochrane	Classroom	30 Saddle Way
	There is no heat in the room, and the air conditioning wont turn off. external thermostat was installed	11/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	B313
16259	Closed Work Orders	11/15/2021	Lorraine Jordan	Administration Area	30 Saddle Way
	Install bulletin board over Lorraine's desk	11/16/2021	Pingitor, Larry		
	bo ard was in stalled	Medium		Carpentry	

12/10/2021 11:35:08 AM Page 4 of 6

Work OrderID		Request Date	Requester	Area Type	Location Area Number Equipment	
	Description	Completion Date	Assigned To	Building		
	Action Taken	Priority		Craft		
16260	Closed Work Orders	11/16/2021	Sharon angelucci	Classroom	30 Saddle Way	
	Please make it colder in my room. The heat is	11/29/2021	Pingitor, Larry		322	
	on way too high. This will allow for more people to get sick. Please make it colder. I have placed the thermostat all the way to cold and it is still way too hot. Please Help as soon as possible.	Medium		Heating/Ventilatio n /Air Conditioning		
	adjusted temp.					
16270	Closed Work Orders	11/18/2021	Sharon angelucci	Classroom	30 Saddle Way	
	It is extremely hot in my room. Please change it so that if I would like my room to be cooler or warmer I can use the thermostat to do that. Right now I am sweating and there is no other option to make it colder, as I have set it at the coldest temperature already.	Medium	Pingitor, Larry	Heating/Ventilation/Air Conditioning	322	
	adjusted temp.					
16272	Complete	11/19/2021	Leia Wisniewski	Classroom	30 Saddle Way	
	Smell that's been coming from the cabinets.	11/30/2021	Cardona, Dan		B111	
	Larry will look in to it	Medium		General Mainten <i>a</i> nce		
16281	Closed Work Orders	11/24/2021	Amber Clark	Classroom	30 Saddle Way	
	Need an extra student desk and chair. Time	11/29/2021	Pingitor, Larry		307	
	Available: any delivered desk and chair	Medium		General Maintenance		
16283	Closed Work Orders	11/24/2021	Maria Martinez	Classroom	30 Saddle Way	
10200	Heating is inconsistent. Although turned all the		Pingitor, Larry	Olassiooni	237	
	way up, the heat will not turn on.	Medium	i iligitoi, Lairy	Heating/Ventilatio	207	
	adjusted temperature			n /Air Conditioning		
16284	Closed Work Orders	11/24/2021	Tanya Bloom	Classroom	30 Saddle Way	
	Can I have another student desk and chair for	11/29/2021	Pingitor, Larry		230	
	the classroom. I need the smallest I can get. I'm getting a new preschool student.	Medium	-	Doors and		
	delivered desk and chair			Hardware		
16287	Closed Work Orders	11/25/2021	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 -	11/26/2021	Pingitor, Larry		-	
	Refer to PM schedule details.	Medium	- ,	Heating/Ventilatio	UH#12	
	Fire pump room heat was on no issues found			n /Air Conditioning		
16289	Closed Work Orders	11/29/2021	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 -	11/30/2021	Pingitor, Larry			
	Refer to PM schedule details.  playground 2 no issues found trash and litter is picked up every day	Medium			Playground#2	

12/10/2021 11:35:08 AM Page 5 of 6

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
16291	Closed Work Orders	11/29/2021	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 9/10/2012 -	11/30/2021	Pingitor, Larry			
	Refer to PM schedule details.	Medium		Landscaping	Courtyard	
	courtyard no issues found					
16294	Closed Work Orders	11/29/2021	Shannon	Classroom	30 Saddle Way	
	One student desk is unbalanced (one in the	11/29/2021	McGettigan		B224	
	back row). Time Available: B224		Pingitor, Larry	General		
	adjusted desks	Medium		Maintenance		
16297	Closed Work Orders	11/30/2021	Sue Woodruff	Classroom	30 Saddle Way	
	Desk needed to use in fron tof the classroom	11/30/2021	Pingitor, Larry		221	
	for virtual learning. Time Available: any	Medium		General		
	delivered student desk			Maintenance		
16298	Closed Work Orders	11/30/2021	Lisa Moore	Classroom	30 Saddle Way	
	My room is cold! Time Available: anytime	11/30/2021	Pingitor, Larry		314	
	adjusted temp.	Medium		Heating/Ventilatio n/Air Conditioning		

12/10/2021 11:35:08 AM Page 6 of 6

Month	Total Generation (kWh) month end	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per	SREC's Cumulative from March 2011	SREC's	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770	2011	month	2011	solu	SKEC	Amount	Sale	sen
March, 2011	8330	5560		5		5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790		7		7	\$620	\$4,340.00	9/8/11	
		9300	25110	7	25	7	\$100			
June, 2011	27880					8		\$700.00	6/1/12	
July, 2011	36008	8128	33238	8	33		\$100	\$800.00	6/1/12	
August, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
March, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
April, 2015	232854	5971	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
June, 2015				7		7		1		
July, 2015	252536	7012	249766		249		\$258.00	\$1,806.00	12/1/15	
August, 2015 <del>P.\Amy\2019-2021\A<sub>l</sub></del>	259153 <del>senda\2022\12-15-20</del> 5	6617 21 Agenda\E+mon D-n	∠⊃0383 <del>ion Meter Reading</del>	7 3s <del>(21)</del>	256	7	\$258.00	\$1,806.00	12/1/15	

			-							
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
May, 2019	452163	6168	449393	6	449					6
June, 2019	458474	6311	455704	6	455					6
July, 2019	467987	9513	465217	10	465					10
August, 2019	471540	3553	468770	3	468					3
September, 2019	476427	4887	473657	5	473					5
October, 2019	479948	3521	477178	4	477					4
November, 2019	483146	3198	480376	3	480					3
December, 2019	485137	1991	482367	2	482					2
January, 2020	487839	2702	485069	3	485					3
February, 2020	491107	3268	488337	3	488					3
March, 2020	498915	7808	496145	8	496					8
April, 2020	500565	1650	497795	1	497					1
May, 2020	507164	6599	504394	7	504					7
June, 2020	515283	8119	512513	8	512					8
July, 2020	521172	5889	518402	6	518					6
- 1		21 Agonda\ E+mon D n		(= -)						

#### E+mon D-mon Meter Readings

August, 2020	526269	5097	523499	5	523			5
September, 2020	531947	5678	529177	6	529			6
October, 2020	534481	2534	531711	2	531			2
November, 2020	537385	2904	534615	3	534			3
December, 2020	539345	1960	536575	2	536			2
January, 2021	542002	2657	539232	3	539			3
February, 2021	543046	1044	540276	1	540			1
March, 2021	550978	7932	548208	8	548			8
April, 2021	554599	3621	551829	3	551			3
May, 2021	560373	5774	557603	6	557			6
June, 2021	567010	6637	564240	7	564			7
July, 2021	574896	7886	572126	8	572			8
August, 2021	578363	3467	575593	3	575			3
September, 2021	583990	5627	581220	6	581			6
October, 2021	587147	3157	584377	3	584			3
November, 2021	590184	3037	587414		584			
Totals						391	\$77,764.50	193

<sup>\*\*8/3/12:</sup> updated April and June with figures from CEPS website from 24 to 21 SREC's